Juiz Start Time: 03:39 PM

Juestion # 1 of 10 ( Start time: 03:39:59 PM )
MIC stands for

»elect correct option:

Metwork Interface Card

Metwork Intemational Card

Metwork Interface Control

Mone of the given choices

> [ Click here to Save An:




Question # 10 of 10 ( Start time: 03:51:52 PM ) T

What will be the result of the following formula in Spreadshest application ? SUMAZ:AZ)
= (Assume that A2 =10 A3 = 20}

Select correct option:

10

20

30

B0

Click here to Save Ancwer & Move to Nex



Question # 8 of 10 { Start time: 03:48:36 PM ) Total Mard

Heuristics suggest that a program or module should be divided into a maximum of parts and
minimum of parts.

Select comrect option:

10,2
1 [
Fopd

12,6




Quiz Start Time: 03:39 PM

Question # 2 of 10 { Start time: 03:41:47 PM )

L=ing networks access is restricted to mputers
only.
Select correct option:

Public

Private

Both Public & Private

Mone of the given choices




Quiz Start Time: 03:39 PM

Question # 3 of 10 ( Start time: 03:43:03 PM )

M the mes=sage to be sent over the Internet into
packets.

'Selec:t correct option:

TER

SMTP

Mone of the given choices

Click hn_are_ to S_Ewe ﬁ.n_sv\_fe_r & Pﬂ_{




Luiz Start lime: U339 FM

Question # 4 of 10 { Start time: 03:44:23 PM ) Total Marks

Electrical pulses receved over telephone line are converted into messages (comprehensible by the
computer) by using:

Select correct option:
Maodulatar
Demodulator

i@

Both Modulator and Demodulator

Maone of the given choices

» [ Click here to Save Answer & Move to Mext Question




Quiz Start Time: 03:39 PM

Question # 6 of 10 { Start time: 03:46:37 PM ) Total Mari

The rezerved word allows a determined action to be taken if the first condition is
falze.

Select correct option:

Switch

Elze

While

For

Click here to Save Answer & Move to Next Questior




Question # 7 of 10 ( Start time: 03:48:00 PM ]

In spreadsheets, cell address B10 means

Select correct option:

Row B, Cloumn 10

Row 10, Cloumn B

Row 1.Cloumn B10

Fiow B1, Cloumn 1




Quiz Start Time: 03:39 PM

Question # 9 of 10 ( Start time: 03:50:05 PM )

Heuristics are used because
they

Select comrect option:

Alwavs give the best results

Mastly gives good-enough results

Don't give wrong results

Are commanly used as rule of thumb




Question # 1 of 10 { Start time: 04:03:46 PM )

Which of the following is incorrect for making design elements
legible?

Select correct option:

Elements should be large enough

Elements must contrast sufficienthy

Related elements should be visually grouped

Elements should have no visual focus




Quiz Start Time: 04:03 PM

Question # 1 of 10 { Start time: 04:03:46 PM )

Which of the following is incorrect for making design elements
!-:-!l i!H:j

Select correct ophion:

Elements should be lange enough

Elements must contrast sufficienths

Related elements should be visually grouped

Blements should have nao visual focus
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Question # 2 of 10 ( Start time: 04:05:16 PM )

Llzing networks access s restricted to authorized computers
only.

Select correct option:

Public

Private

Both Public & Private

Mone of the given choices




Quiz Start Time: 04:03 PM

Question # 3 of 10 ( Start time: 04:05:45 PM )

Which cne can lead user to leave your
website?

Select correct option:

Simple design

Poor navigation

Infarmation layout

Adaptable design




Question # 4 of 10 ( Start time: 04:06:27 PM )

iz 3 systemn that guards a private

network.

Select correct option:

Protocal

Firewall

Communication channel

Mone of the given choices




Question # 5 of 10 { Start time: 04:06:53 PM )

In @ System having many parts to be designed, one should always do the
first.

Select correct ophion:

Simple part

Development part

CQuality part

Mone of the given




Quiz Start Time: 04:03 PM

Question # 6 of 10 ( Start time: 04:08:24 PM )

The key property that iz azsociated with array object in
javascript is:

Select correct option:

Length

Size

Range

End




Question # 7 of 10 { Start time: 04:09:37 PM )

network fails if a single node

fails.

Select correct ophion:

Ring

Bus

Star

Mone of the given choices




Quiz Start Time: 04:03 PM

Question # 8 of 10 ( Start time: 04:11:13 PM )

In JavaScript, arrays are implemented in the form
of :

Select correct option:

Amay object

Amay variable

Amray class

Mone of the given choices
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Question # 9 of 10 ( Start time: 04:11:38 PM )
All of the following are types of JavaScript Literals EXCEPT

Select correct option:

Mumber

Character

String

Boolean




Question # 10 of 10 ( Start time: 04:13:01 PM )

Rule of thumb learned through trial and error is called

Select correct option:

Aim

Plan

Heuristic

Design
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